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Mr. Schlansky Geometry

Coordinate Geometry Not Proofs

1. Prove that the triangle whose vertices are A(-6,6), B(-5,2), and C(3,4) is a right triangle but
not isosceles.
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2. Quadrilateral FRDY has vertices F(-2, -8), R(7,-1), D(10,10) and Y(1,3). Using coordinate
geometry, prove that quadrilateral FRDY is a rhombus but not a square.
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3. The coordinates of quadrilateral JKLM are J(1,-2), K(13,4), L(6,8), and M(-2,4). Prove that
quadrilateral JKLLM is a trapezoid but not an isosceles trapezoid.
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4. Quadrilateral FUNK has vertices F(-1, 3), U(1,6), N(7,2) and K(5,-1). Using coordinate
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geometry, prove that quadrilateral FUNK is a rectangle but not a square.

NFUNK 1S @ feckangle beasse &+ has

y

A Peu's of ol Sik sidis = and

dl‘@éﬂ‘b =Tt > neb a sgoare

heCavse not dll Sidhs aie wpygliunt

D) dFy-I73r=lT =03

JUN [P = T rle =552

AN = ﬁafi Jar =2J3 :

ACF = {77t »J’{[»E =J5>

OE’N J&H | =J o4 ~JG5

AU = TP = Sovaw = Jo5

%) Fu = KN K uN ENS ~Qp betant
H\Pj Nt L same obance

Same ghstang

they Jos} have e

38



